
MODUSFURNITURE.CO.UK

MALUMA
CL AESSON KOIVISTO RUNE

Maluma is a joyful, sectional seating system consisting of a 
circular seat with rounded backrest that has been designed for 
dissassembly.

MODUSFURNITURE.CO.UK

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/
https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/


02MODUSFURNITURE.CO.UK MALUMA

MALUMA 
CL AESSON KOIVISTO RUNE
Maluma is a seating system made of individual chairs 
and ottomans that can be linked together to create any 
configuration, from small pairs, to long strings of seating. 
Connections between pieces allow for repositioning and 
reconfiguration, making this a completely flexible and 
adaptable seating system.
 
Maluma has been designed for disassembly, fabric covers 
can be zipped off and replaced, moulded foam components 
have been made with no steel armature, making material 
reclaim easy at end of life. Every component can be 
separated into individual materials with no glue, no staples, 
just a few simple fixings, making Maluma perfect for a 
circular economy.

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/


MATERIAL CONTENT

ENVIRONMENTAL PRODUCT SUMMARY
MALUMA MLU002

EMBODIED CARBON

A1-A3 A1- C4

MODUSFURNITURE.CO.UK

Our purpose is simple, to create furniture of the highest standards in 
terms of design, quality and durability that enriches life today without 
compromising tomorrow. Our products are thoughtfully manufactured 
in the UK with respect for environmental limits and an understanding 
of the interconnectedness of a healthy economy, society and 
environment. 

MALUMA

Polyurethane 8.7kg 45.2%

Spruce plywood 7.35kg 37.9%

Steel 1.2kg 5.8%

Wool 1kg 5.3%

Polyester 0.2kg 1.5%

Polypropylene 0.4kg 2%

Nylon 0.14kg <1%

Oak 0.03kg <1%

Organic Cotton 0.03kg <1%

MDF 0.14kg <1%

Weights and material percentages have been calculated using MLU002 
upholstered in Kvadrat Remix.

This carbon footprint is for MLU002 from a 2023 data set and has been 
claculated according to the methodology in ISO 14040 and 14044 using  
One Click LCA software.

103kg
CO2e

106 kg
CO2e

RECYCL ABLE CONTENT 98.39%

Designed for disassembly, Maluma can be separated into mono 
materials within a few minutes. Fabric covers zip off, making 
refurbishment simple, every component can be repaired or replaced, 
moulded foam components have no steel sub frame making 
material reclaim easy at end of life. Maluma can be refurbished and 
remanufactured over multiple lifecycles making it perfect for a circular 
economy. A spruce plywood frame, made using 50% bio binder, 
further reduces embodied impacts. Maluma is available with FSCTM 
certification on request.

RENEWABLE CONTENT 44.63%

RECYCLED CONTENT 0.25%

PRE-CONSUMER RECYCLED CONTENT   0.09%
POST-CONSUMER RECYCLED CONTENT  0.16%

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/


04MODUSFURNITURE.CO.UK MALUMA

Notes on abbreviations: GWP = global warming potential, LULUC = land use and land change, EP = eutrophication potential,  
POCP = photochemical ozone creation potential, ADP = abiotic depletion potential.

SYSTEM BOUNDARY
This LCA covers impacts from cradle to grave using  the following modules; A1 
(Raw material supply), A2 (Transport), A3 (Manufacturing), A4 (Transport to site), 
A5 (Installation), C1 (Deconstruction), C2 (Transport at end-of-life), C3 (Waste 
processing) and C4 (Disposal). In addition, module D - Benefits  
and loads beyond the system boundary, is included.

CUT OFF CRITERIA
This study does not exclude any modules or processes which are mandatory 
in the EN 15804:2012+A2:2019 and the applied PCR. Nor does it exclude any 
hazardous materials or substances. 
 
This study includes all major raw material and energy consumption. All inputs 
and outputs of the unit processes, for which data is available, are included in the 
calculation to a minimum of 1% of the total mass or energy flows.

METHODOLOGY
This LCA was calculated using the methodology in ISO 14040 and 14044.  
Impact categories are reported as per EN 15804 +A2. Environmental  
impacts have been calculated using One Click LCA software. 

DATE
This LCA covers the period 2022-2023

MASS PER DECL ARED UNIT
MLU002 = 19.4 kg

LIFE CYCLE ASSESSMENT MLU002
CORE ENVIRONMENTAL IMPACT INDICATORS -  EN 15804+A2,  PEF

A1 - A3 A4 A5 C2 C3 C4 D

GWP — Total (kg CO2e) 7,12E+01 2,29E-01 -1,30E+00 2,07E-01 -1,19E-01 -6,78E-02 -1,56E+00

GWP — Fossil (kg CO2e) 1,03E+02 2,31E-01 1,64E+00 2,07E-01 8,27E-01 1,61E-01 -1,56E+00

GWP — Biogenic (kg CO2e) -3,40E+01 0,00E+00 -2,95E+00 0,00E+00 0,00E+00 -2,78E-17 -4,55E-03

GWP — LULUC (kg CO2e) 2,34E+00 8,67E-05 1,18E-02 7,75E-05 3,52E-04 3,46E-06 -2,39E-03

Ozone Depletion Potential (kg CFC-11e) 1,44E-05 5,76E-08 1,99E-07 5,15E-08 1,54E-08 1,28E-09 -8,63E-08

Acidification Potential (mol H+e ) 7,73E-01 7,36E-04 8,44E-03 6,58E-04 1,45E-03 9,40E-05 -7,05E-03

EP — Freshwater (kg Pe) 1,87E-02 1,65E-06 1,25E-04 1,48E-06 1,58E-05 1,56E-07 -1,12E-04

EP — Marine (kg Ne) 7,18E-01 1,62E-04 4,76E-03 1,45E-04 3,43E-04 4,12E-05 -2,21E-03

EP — Terrestrial (mol Ne ) 2,30E+00 1,80E-03 2,64E-02 1,61E-03 3,72E-03 4,23E-04 -1,44E-02

POCP (kg NMVOCe) 4,78E-01 7,09E-04 5,38E-03 6,34E-04 9,83E-04 1,05E-04 -5,45E-03

ADP — Minerals & Metals (kg Sbe) 1,13E-03 5,66E-07 1,03E-05 5,06E-07 4,19E-06 3,87E-08 -5,42E-06

ADP — Fossil Resources (MJ) 1,75E+03 3,69E+00 2,39E+01 3,30E+00 3,56E+00 1,03E-01 -1,76E+01

Water Use (m3e depr.) 8,02E+02 1,70E-02 1,04E+00 1,52E-02 1,71E-01 2,16E-02 -1,20E+00

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/


05MODUSFURNITURE.CO.UK MALUMA

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/


06MODUSFURNITURE.CO.UK MALUMA

F INISHES & MAINTENANCE
MALUMA

SERVICING
For all servicing enquiries please contact our team who will be happy 
to help. 

WARR ANT Y
Maluma carries a ten year warranty. For further details please refer our 
Terms and Conditions. 

MAINTENANCE
To keep Maluma looking its best we recommend regular, gentle 
vacuuming. Any spills should be immediately blotted with an absorbent 
cloth. Stains may be tackled gently with a soft cloth from edge to 
centre but please refer to the care instructions of each specific fabric, 
some fabrics will mark more easily than others. Any cleaning products 
must be used with care and in accordance with the manufacturer’s 
recommendations. The steel legs may be dusted with a soft brush. 

Tables require regular, light dusting with a soft cloth or brush. Spills 
should be wiped as soon as possible and marks may be removed with 
warm soapy water and a gentle rub. Avoid acids, bleaches and furniture 
polishes containing silicones. The water-based lacquer that we use 
is highly resistant to the rigours of everyday life but, like traditional 
solvent-based finishes, will scratch if abrasive materials are used. 

RESOURCES
Please visit our resources library for product assets including images 
and CAD.

TABLE TOP -  FENIX HPL -  ON PLY WOOD

Nero Ingo Beige ArizonaRosso Jaipur Verde Commodoro

TABLE TOP -  FORBO LINO -  ON PLY WOOD

Charcoal Pebble PowderSmokey Blue Olive Vapour

TABLE TOP -  OAK VENEER -  ON PLY WOOD

Walnut Oak

TABLE TOP -  POLYGOOD 100% RECYCLED PL ASTIC

White LollipopGreyciousReverse Timeless 
Duo

LEGS

The finishes shown are our standard finishes, if you wish to specify 
any finish other than these options please contact us to discuss your 
requirements. Please note that colours are for reference only.

RAL 060 70 20
Peanut Butter

RAL 040 50 50
English Red

RAL 030 30 20
Autumn Leaf Red

RAL 7021
Black Grey

RAL 9005
Jet Black

RAL 9016
Traffic White

RAL 5008
Grey Blue

RAL 250 60 15
Gentle Blue

RAL 6003
Olive Green

RAL 120 70 10 
Nile Green

RAL180 40 05
Earth Green

RAL 7044 
Silk Grey

RAL 080 70 05
Garlic Beige

RAL 060 80 05 
Light Chamois

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/
mailto:sales%40modusfurniture.co.uk?subject=
mailto:sales%40modusfurniture.co.uk?subject=
https://www.modusfurniture.co.uk/downloads/


07MODUSFURNITURE.CO.UK MALUMA

PRODUCT SPECIFICATION
MALUMA

CHAIR

MLU002
Width: 870 mm
Depth: 870 mm 
Height: 770 mm
Seat Height: 450 mm

CHAIR WITH TABLE

MLU004
Width: 870 mm
Depth: 870 mm 
Height: 770 mm
Seat Height: 450 mm

OT TOMAN

MLU001
Width: 870 mm
Depth: 870 mm 
Height: 450 mm
Seat Height: 450 mm

OT TOMAN WITH TABLE

MLU003
Width: 870 mm
Depth: 870 mm 
Height: 450 mm
Seat Height: 450 mm

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/


ACCREDITATION,  CERTIFICATION & 
COMPLIANCE

B R E E A M P R O D U C T C O M P L I A N C E

HEA 02 Indoor Air Quality 
Indoor AdvantageTM Gold certified. This product meets the VOC emission 
limits of ANSI/BIFMA e3 2019 7.6.1, 7.6.2, and 7.6.3 

MAT 01 Environmental Impact of Materials
This product has an LCA to the EN 15804 standard and ISO 14040 and 14044

MAT 03 Responsible Sourcing of Materials 
FSC chain of custody certification 

L E E D P R O D U C T C O M P L I A N C E

Low Emitting Materials
Indoor AdvantageTM Gold certified. This product meets the VOC emission limits 
of ANSI/BIFMA e3 2019 7.6.1, 7.6.2, and 7.6.3 

Environmental Product Declarations
LCA to the EN 15804 standard and ISO 14040 and 14044

Sourcing of Raw Materials 
FSC chain of custody certification 
Extended Producer Responsibility - 'Rework' is our product take back scheme 
Recycled content information is available for all products

F I T W E L P R O D U C T C O M P L I A N C E

6.3 Indoor Air Quality Policy
Indoor AdvantageTM Gold certified. This product meets the VOC emission limits 
of ANSI/BIFMA e3 2019 7.6.1, 7.6.2 and 7.6.3

W E L L P R O D U C T C O M P L I A N C E

X06 VOC Restrictions
Indoor AdvantageTM Gold certified. This product meets the VOC emission limits 
of ANSI/BIFMA e3 2019 7.6.1, 7.6.2, and 7.6.3 

S K A P R O D U C T C O M P L I A N C E

D20 Timber & M05 Hardwoods
FSC chain of custody certification 

M19 Workstations & Tables, M20 Chairs, M21 Storage units, 
M22 Other loose ancillary furniture items
FISP membership, FSC chain of custody certification

MODUSFURNITURE.CO.UK

H E A D O F F I C E

Cricket St Thomas, Chard

Somerset TA20 4BZ

T +44 (0)1460 258590

orders@modusfurniture.co.uk

S H OW R O O M

28–29 Great Sutton Street

London EC1V 0DS    

T  +44 (0)207 490 1358

sales@modusfurniture.co.uk

MALUMA TC050v7

https://www.modusfurniture.co.uk/
https://www.modusfurniture.co.uk/collection/seating-systems/maluma/



